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39 R5.1.29 R5.2.1 <10 <10 - BRMLEE 1/
38 R5.1.11 R5.1.16 <10 <10 - f—eﬁbmj@ﬁﬁ’ai iR Th
37 R5.1.8 R5.1.13 <10 <10 - BRMLE =R Th
36 R5.1.7 R5.1.13 <10 <10 - MRmLi#ELl iR Th
35 R5.1.10 R5.1.12 <10 <10 - BRXmLEEH =RoTh
34 R5.1.2 R5.1.11 <10 <10 - MRTLEH 1Y
33 R5.1.3 R5.1.10 <10 <10 - gReETAL ) =R Th
32 R5.1.2 R5.1.10 <10 <10 - BRBE T AR AR 1/
31 R4.12.14 R4.12.20 <10 <10 - BRXmLEEH =RoTh
30| R4.1212 R4.12.16 <10 <10 - MRMLEH 1/
29 R4.10.8 R4.10.13 <10 <10 - MR TEH 1/
28 R4.10.8 R4.10.13 <10 <10 - MRMLE iR Th
27 R4.10.8 R4.10.13 <10 <10 - BREL =R Th
26 R4.10.8 R4.10.13 <10 <10 - AETREE/NE (=R DH
25 R4.10.3 R4.10.7 <10 <10 - EENDEIRFET |ZRVTUh
24 R4.10.3 R4.10.7 <10 <10 - LENDETRFHEE |4/
23 R4.10.3 R4.10.7 <10 <10 - HEEMRKFLEEE [ZFRUDH
22 R4.10.1 R4.10.7 <10 <10 - BREETH RFEH 1/
21 R4.10.1 R4.10.5 <10 <10 - ARETIR ERTRL 1/
20 R4.8.19 R4.8.25 <10 <10 - MRTLEH iR Th
19 R4.7.24 R4.7.28 <10 <10 - BRMLE =R Th
18 R4.7.19 R4.7.22 <10 <10 - LENDETRFHEE |4/
17 R4.7.17 R4.7.21 <10 <10 - BREL =R Th
16 R4.7.16 R4.7.21 <10 <10 - B WA 1/
15 R4.7.17 R4.7.21 <10 <10 - EREETT KFIRTT =RoTh
14 R4.7.15 R4.7.21 <10 <10 - BREETH RFEH 1/




13 R4.7.14 R4.7.21 <10 <10 - MRTLEH I
12 R4.7.5 R4.7.11 <10 <10 - AEMRERTKREE |4/20
11 R4.7.3 R4.7.11 <10 <10 - EENDETKFARE =R Th
10 R4.7.1 R4.7.8 <10 <10 - AEMRERML |=hRoDH
9 R4.6.16 R4.6.24 <10 <10 - MRXTTEHE —iRoTh
8 R4.6.11 R4.6.16 <10 <10 - BRXMTEH 1/
7 R4.6.5 R4.6.9 <10 <10 - EREETH /T —iRoTh
6 R4.6.4 R4.6.9 <10 <10 - tREETH B F 1/
5 R4.6.3 R4.6.9 <10 122 12 MRXmLE I
4 R4.5.31 R4.6.6 <10 <10 - AETMRERTKREE |4/20
3 R4.5.31 R4.6.6 <10 <10 - KEMTREEAE [=HhoDh
2 R4.5.29 R4.6.2 <10 <10 - BT TEEH =RoTh
1 R4.5.28 R4.6.2 <10 <10 - BMRm#EL —iRoTh




